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You have been called for the written test based on the online data furnished by you in the web application, If
vou have wrongly entered in the web or you do not possess the required qualification as per our
advertisement, your candidature will be rejected.

2. wmﬁﬁﬁﬁﬁwﬁmﬁﬂ%ﬁamgﬁmmwmmmmﬁm
You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.
3. U, 60 ST A T -Gl & ¥ A &
The Question paper is in the form of Question Booklet with 60 questions.
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A separate OMR answer sheet will be provided for answering the Questions.
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Question booklet series code (A/B/C/D/E) printed on the right hand top corner should be written in
the OMR answer sheet in the place provided.
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10.

11.

12.

13.

14.

15.

G1-GIETehT 3 TR ATH TT IFefsheh Hel ford |
Enter your Name and Roll Number correctly in the question booklet.

INTANR Ieax-qfeaat 7 gaf yfafSear sfel/awTelt Tl & afer a5e UaT & &1 6 A= AT
All entries in the OMR answer sheet should be with blue/black ball point pen only.

g & fRuTRa degen & 3R w, AR 9dieT IR 3ceRl & A1y afese &9 H gIam, fSr=e
T had T FHCIY § & Tl 81|

The written test will be of objective type based on the qualification prescribed for the post with four answers
indicated, of which only one will be unambiguously correct.

TR, Fear-Giedet 7 4T 7T IR & 3R, +Aell/aHlell TATET & Fiel TST I F HNTHNR
Fea-qieca # Haftra Jifaer 1 3ifehe X HEY el I TIH A &1

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by

. blue/black ball point pen as per the instructions given in the answer sheet.
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Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong
answers.

@ afeT ToiaTel Bid & ey HYE, FeAFoleX, HGISel Bl JUT 3Hed SelFeii-ieh S,
AIS-GEch, FAle e ollel & AT ALl & Srest|

Computers, calculators, mobile phones and other electronic gadgets. text books. notes etc., will not be
allowed inside the written test hall.

TlieT qut @Y 9X, HUHAN Sea-Tiedet 1 39 & Se fea & B12 3R e AR s
gftae! forfiars =t 61 aer gad wfa smas o W)

On_completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.
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The question booklet can be retained by the candidate.
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Candidates are not permitted to leave the examination hall during the first hour of the examination.
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The written test is conducted only to shortlist/screen-in the candidates for interview.
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AR & (SaFcias Ahidew)/ Technician B ( Electronic Mechanic)

3 e @ yfafaftcs #aren 9% ¥/The curve representing ohm’s law is

(@) dX@erd/Parabola (b) @@ ®A=/Sine function
(c) Yf@F/Linear (d) FfaRae@/Hyperbola

ymafed S T qftaer @ Tiar SfaeTa/As the frequency increases, the capacitive reactance of the
circuit

(a) ©ear g/Decreases

(b) w&dr &/Increases

(c) 3maRafdd waT gfremains same

(d) wgar ¥ 3R R fRR g tincrease and then remains constant

o R-L 9fuer &1 9faRier 6 ohms d2r 9¥or gfdend 8 ohms ¥ =gdr giaemr e
A R-L circuit has 6 ohms resistance and 8 ohms inductive reactance. It's impedance will

be
(a) 6 ohms (b) 14 ohms (¢) 10 ohms (d) 8/6 ohms

qrd ‘a’ ATl U FIE H de-aiAwa g/Surface area of a cube with side ‘a’ is

(a) 6a’ (b) 6a (c) @° (d) 3a’

v afes 7 geeRer Hehd ¥/In an oscillator, the feedback signal is

(a) e @6 & @Y & Alin phase with the input signal

(b) o TeheT & WA el fin phase with the output signal

(c) e dha & FY Fell & areT Fout of phase with the input signal
(d) 9 Hhed & arer FaT ¥ T Hlout of phase with the output signal
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T qUT T A feseahrl & g e gleedr B/The peak inverse voltage of a full wave bridge

rectifier is
(@ Vm (b)  2Vn
(c) Va/n (d) VN2

T 3T YT cAS YFceeiaY $r faeter gfderer &/ The output impedance of an ideal

operational amplifier is

(@) 3F=id/Infinity (b)  YwF/zero
(c) E‘e,;?fﬁﬁ'/very low (d)  ¥gd 3=alvery high

U VFCRITER & dlecar @t 100 §1 B=0.03F HUTcH® JaAsRUT il W SHHT AT FH7 ga] -
81917 The voltage gain of an amplifier is 100. On applying negative feedback with p=0.03, its gain
will reduce to

(@ 70 (b) 99.97

(c) 3 (d) - 25

U CRO ¥ FTERUIA: 39asY 3{RI&ha Hehd - HT g/The calibration signal, usually available from
a CRO is of the

(@) @TZeT T dlecan/Sine wave voltage

(b) 3T I dleedarSquare wave voltage

(c) 3IREr alecarSaw tooth wave voltage

(d) dc dleedrde voltage

UF TF F ——— & HAGA & ®T F AT ST ThdT p/A triac can be considered as a
combination of

(@) ar cifeocd/two transistors

(b) 2r SCRS/ two SCRS

(c) ar sAEitwo diodes

(d) TS SIS dur vk SCR/one diode & one SCR
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11.

12,

15

14.

15.

16.

Teh JhRNTAT FToRigsd (TABIN) Teh - F & F F1F Far of A light dependent resistor (LDR)
behaves like a

(a) wuriF/Capacitor (b)y Ea@/switch
(c) wRrdega mreg#A/dielectric medium (d) Seqbattery

60 cm SIS ¥ UH &3 @ UFH AT o & fow dfa AT S &l UH WRd 10 cm ¥l GERT
ared 2/A rod of length 60 cm is bent to form a rectangle. One side is 10 cm. The other side is

(a) 15 cm (b) 20 cm (c) 25 cm (d) 30 cm
FSH UIUE UF CrASgE §, Sl - Pl oo # uf@fca &ar 1/Thermister is a transducer

which converts

(a) AT H gHTeT FH/heat into light

(b) weRTYr H FSAT Hlight into heat

(c) @ & fagga Hhd Hitemperature into electric signal

(d) foega "&a & TAW arg Alelectric signal to equivalent temperature

afe 30 uFF =T Tenfet @1 Aol dewe T STar ¢, ar faer ariar wf three 30 pF capacitors

are connected in series, the net capacitance is

(@ 10 pF (b) 60 pF () 90 uF (d) 1/30 pF

% URYIT & AdeS § - &7 9a18/One ampere means the flow of

(a) wfa =er UF Feggie/one electron each hour
(b) wfa ¥ U FHaiA/one coulomb each second
(¢) 9fa fAsic t& FaA/one coulomb each minute
(d) uf¥ ger ws FaA/one coulomb each hour

100 V a drer e U T 4pF R & =rar g/ The charge in a 4pF capacitor charged to
100 V will be

(a) 25 pc (b) 400 pc (c) 100 pc (d) 0.04 pc
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17.

18.

19.

20.

21.

22

Z3.

g 3THaTE H gfaic B/The unit of magnetic flux is

(a) cHe/Tesla (b) FHeFmaa/Maxwell
(c) g {i/Henry (d) dsYWeber

IRy Ao, YEhE &1 & - T HT ST & Al 4R emf HHAHA & S §1/ The induced
emf is maximum if the conductor cuts the magnetic field at

(a) 0O degree (b) 45 degree

(c) 90 degree (d) 30 degree

s Aofr gfxgwr & 9Rr -—— &/In a series circuit, the current is

(@) fafe= ufdteser 7 se@vdifferent in different resistors
(b) feR & @HAREAIH/proportional to the resistance
(c) T=Uconstant

(d) seadr/varies

geer aRfY 66 mm S TF god H W AT £2/Circumference of a circle is 66 mm find its
diameter.

(@ 21 mm (b) 42 mm
(c) 33 mm (d 11 mm

UH e ader H afea 50 Hz gl &1 Y2ue ufa Q& 7 sHar ST J97 §/A sine wave has a

frequency of 50 Hz. It’s angular velocity in radian per second is

(@) 50/ (b) 50/2n © 50m (d) 100m

¥ GEIT 29 & di5ailr & §/The decimal number 29 in binary form is

(a) 11001 (b) 11101 (c) 10001 (dy 11111
e Aeraell & AR (1+A) (14B) (1+C), - & ® H WelRd Far 51 wFar g/
According to Boolean algebra (1+A) (1+B) (1+C) can be simplified as
(a) (A+B+C) (b) ABC () 1 (d) 1+ABC
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24.

25,

26.

27

28.

29.

30.

dg-degd A - faeia W & &ar §1/Thermocouple works on the principle of

(a) 3rgurd gsa/Avalanche effect (b) a9 wema/Seebeck effect
(c) s #/Faraday’s law (d) @ ysra/Hall effect

Wsaa@rfﬁﬁ/ﬁqgaqﬁqﬁﬁaﬁmﬁma?m%aﬁwaﬁwmgﬂnan

electronics/electrical circuit the angle between voltage and current is called

(a) i U /Form factor (b) R Ui /power factor
(c) TRy Fuiieh/ peak factor (d) Feniat/phase difference

p-CTST sréaTeeT 3 HRHRT aE% &/In p- type semiconductors, the majority carriers are

(a) gri/Holes (b)  zAFII/electrons
(c) =Igivi/neutrons (d) 3T & &5 wgiinone of these

TF @IS A Y A 1/60 @b 1 FEHT 3T §/The period of a sine wave is 1/60 seconds.

It’s frequency is
(@) 30 Hz (b) 60 Hz () 120 Hz (d) 15 Hz

W@rqﬁwﬁwmmﬁmﬁﬁ%@aﬁﬁmmﬁmmgfwmhof

the following is used as an active component in electronic circuit?

(a) TEfAEcU/Transistor (b) wfcRiess/ resistor
(c) wenf=/Capacitor (d) WHlinductor

AT eee ST AT FTT & [T FART BRAT ST §1/Rotameter is used to measure

(a) d=el/speed (b)  =U=I/rotation
(c) dwarg/flow (d) dmHAE/temperature

6 cm, 8 cm @7 10 cm ureat aTer us BT HT &R #/Area of a triangle having side 6 cm, 8 cm
and 10 cm is :

(a) 48 cm? (b) 60 cm? () 30 cm? (d) 24 cm®
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32.

33

34.

35,

36.

U diford IR, fdd aledl $9C HF §lel T HISCIC I= A g1 &1/ A logic gate circuit that
outputs a HIGH only when both of its inputs are low

(@)
(c)

afE cosx =4/5 ¥ dltan x & HeA &/ If cosx=4/5, the value of tan x is

(a)

(a)
(€)

3/4 (b) 4/3 © 205 (d)
XX -5x+4=0 FHxa&H A/ The value of X in x* = 5x + 4=0

1 (b) 4

s 4 (d) a&basibotha &b

3HRIOR (b)  TUZAND
TUZ/NAND (d) FRINOR

2/3

gaf TRIfya dieedr ©RAES & Jaee - 9T 3Ra 8/The operation of a servo controlled

voltage stabilizer is based on

(@)
(b)
(©)
(d)

AT fai9/integration method
#rge faf/modulation method
wga 9 fafeclosed loop method
fage arr faf@/open loop method

fear R 21 $1o7 0 areT UE ged @3 &1 &%e 8/The area of a sector of circle with radius R cm, if

the angle 0 is

(2)

8/360x11R? (b) 6/180xmR? ()  0/360xmR

(d)

8/360x211R

U AEH T 3MRa yomel F awASi & Aded ¢/In a micro processor based system,

debugging means

(@)
(b)
(©
(d)

T g for@sr/writing a program

T G @ FEAA FAT/troubleshooting a program
T WA &1 gfaferdisior #TeT/copying a program
T wanH fAsarfea TAexecuting a program

8
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37.

38.

39.

40.

4].

TF ATSH GO §/A micro processor is

(a) UH 3e[e9 f3argH/an analog device

(b) UH 3hry farsH/a digital device

(c) a7 ar U HTET 3T U 3 fSargd/either an analog or a digital device

(d) TS WYFT T8I 3t faarzd/ a combined analog and digital device

i Tef s 9 Hl - #/Solar cell is a type of

(a) weRI dTehd f3arsd/photo conductive device
(b) BT 3caSis fSarsd/photo emissive device
(c) e decr fams@/photo voltaic device

(d) faega s f3argHlelectromotive device

U G YECTERER, UF - & &9 F HA A6l $X Tehdl/ An operational amplifier cannot

function as a

(a) dafaa/Comparator (b) aifaF/oscillator
(c) sghfA/multivibrator (d) 3=T# § @IS ci/none of these

aTa’a:W%Wﬁmmﬁﬁmwwmmwlwmchofthe

following devices cannot be used to measure pressure?

(@) TedEILVDT (b)  TrEUHIEYpyrometer
(c) Tapfaardstrain gauge (d) RENEsTpirani gauge

TF FX & & aW ¥, o sfacards g aRdl ge aIgu S 6° FIUT F qEYA Farel R cm
ST & I8 g B =5 ¥ T UAY F W U Searer Fof &7 /A car has two wipers,

which does not overlap. Each wiper has a blade of length R cm, sweeping through an angle of 6°.
The total area cleared in each sweep of blade is:

(@) 2{(6/360)x1R’ (b)  6/360x1R?
(c) 2{(6/360)x2mR} (d)  2{(6/360)x2rR%}

B 1252EM
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42.

43.

44.

45.

46.

47.

48.

vs @R e # 50, 000 /V FH FaAEdar Bl qOT Thel W A gl F faRT g 3T rr
BI9T/A certain meter has a sensitivity of 50, 000 &/V. the current required to deflect the meter
movement to full scale will be

@@ 5 pA (b) 10 pA (¢) 20 pA (d) 50 pA

Ueh 3T dlocHey & 3i6 9e2T 4 % &1 1000 V. IS - T g d&arl o/A digital voltmeter has
4 Y, digit display. The 1000 V range can be up to

(a) 9999 (b) 9.999 (c) 1.9999 (d) 19999

T AT Gharae A 1§18, - & s §/ln a train of binary signals, 1 baud is equal to

(a) 1/4 bit/sec (b)  1/2 bit/ sec
(c) 1 bit/sec (d) 2 bits/sec

T A5 17 ®Ecd & FA0r § fav snfaia frerg-waar & §&ar &/ The number of flip flops

required to build a mod 17 counter is

(a) 4 (b) S () 6 (d 7

1 Fex Az aur 1 el Hiex Aers arar v TegAfAaH e (Seca 2.7 gm/ce) H AR - §
Weight of aluminum sheet (density 2.7 gm/cc) of size 1 meter width and 1 mm

thickness is

(a) 27 kg (b) 2.7 kg (c) 0.27 kg (d) 1 kg

T EEr AT A HRA@HAT AT - &/ The aspect ratio in a TV receiver is

(@ 32 (b) 4:2 ) 43 (d) 3:1

-FEUT Ul & sAET [T FET A ST e Farg X Tuia fRar arar §1/ Geo stationary

satellites are placed in equatorial orbits at a height of 'approximately

(@) 900 km (b) 1600 km (c) 2000 km (d) 36000 km
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49.

50.

3l

32

33

54.

55.

g 3 HUATT e At Tgfd #/The color TV system adopted in India is

(a) TETHdr TEf/NTSC system (b) druwe Tgfd/PAL system
(c) W ggfa/CCTV system (d) &RTer &t ugfa/INDIAN TV system

et @ 50 aTel U iRt 10 diee 33TYE & § g1qC deedl &I Aed §/An amplifier
circuit of voltage gain 50 gives 10 volt output, the value of input voltage is

(@ 200 mV (b) 500 mV ) 5V (d 5mVv

qRY ‘a’ AT U FHIS TIHIVT T ATAHE/Area of a equilateral triangle with side ‘a’

(a) +3/4a’ (b) 3/2a? () V3/6a’ (d) +3a®

PR & fFEsT aORed Fa¥ F7 §/Which of the following has the least wavelength?

(a) uFH-fFRUIX-rays (b) RIS ultra violet
(¢) 3=/ infrared (d) 3mAT/gama

TR 3fRmEr & s &/ Telephone receiver employs

(a) @der ATgHEE/ Carbon microphone (D) FIEr AEIwIE/Condenser microphone
(c) f@= FEHE/Ribbon microphone (d) frEcer AEHEE/Crystal microphone

afE afy & aR @ oard I AT ST ¥ A HehT e dge A - g1t #/If the diameter of a
copper wire is doubled, its current carrying capacity becomes

(a) dlerAT/Four times (b)  gItwice
(c) 3mur/half (d) 1/4

ErafafEa dert 3 ¥ g Hotar oTih 21T &/Which of the following material has negative

temperature coefficient?

(a) UegFfEIA/AlUminium (b)  @igr/lron
(c) e=A/Carbon (d) fesANichrome
11 1252EM
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56.

3.

58.

39.

60.

UF 9Ty Fr ANEE 9egar 0.95 &, 9erer §/The relative permeability of a material is 0.95, the

material is

(a) widgsshra/diamagnetic (b)  3iTdeehII/paramagnetic
(c) ggsdra/ferromagnetic (d)  3rEdesh/ non-magnetic

aﬁmﬁmﬂwmﬁwwmﬁ%ﬁvﬁmﬁ@aﬁﬁ%gﬂ%m%} Which

of the following is used for the measurement of dielectric loss of capacitance? -

(a) Ust@= df/Anderson bridge (b)  9WeT FF/Schering bridge
(c) & ¥J/Hay bridge (d) HFwId d/Maxwell bridge

5 A YT 9aTE are 10 ohms &7 U YA @RI - G1a¥ &7 3uHAeT fhar srwan/  Power

consumed by a resistance of 10 ohms with a flow of 5 A current is

(a) S0 w (b) 500 w () 250 w (d 2w

TR 9aA3ITATGY - ST HGST e & ToIv 99T fhar Siram g/Hotwire anemometer is used to
measure

(a) 3T FT FE/pressure of gases

(b) ga fawe/liquid discharges

(c) g o= aivery low pressures

(d) 3\ & dar/gas velocities

U R & AT &ar 8/ A CRO uses

(a) faegcdssry wwa-/Electromagnetic focusing
(b) fE dega wswI/Electrostatic focusing

(c) ar wiEsT deeiia/Both focusing techniques
(d) 319 & FIS AT ¢/None of these
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